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BEANRE SH6EEEMEERERTE

£ b R - BT Bify % 2 B E =

BEIZE 261,181,042
[FAREEY—F] 22,170, 070
BEYHET 7,828, 053
SHERELT 5,345,183
FAI7IL NEEMRYIET 10, 269
1 7RZ7 7L SRR B t=15cmLLF 15.00 684.6 10, 269

m
FAI7IL FHERBET 3,497, 226
2 7RI 7L FHERER t=15cmEA T 5,970. 00 585. 8 3,497, 226

m2
TR 7L FRGEK 632, 388
3 TRI7I FRER HEIER~BERILES 302. 00 2,094 632, 388

m3
T AT 7IL LRSS 1, 205, 300
4 FRI7IRFRLHE 709. 00 1, 700. 00 1, 205, 300

t

EEYRIELT 2,482,870
EEYRIELT 1,496, 763
5 #EEWMEY ChLiEE M|ERAVYY-b 32.00 10, 900. 00 348, 800

m3
6 MEEEE (1) H=1.5m W=8.0m 1.00 197, 500. 00 197, 500

=
7 MBEEE(2) H=1.5m W=6.0m 2.00 197, 500. 00 395, 000

=




BERNRE AH6EERREEERMER TS
% L R - BRTE B = B {f S B8 i
8 EVEE H=3. Om (RIERM & L) 156. 00 3,232.00 504, 192
m
9 EEMHLHEE H=1.1m 19.00 1,081.00 20, 539
m
10 7z v RE H=1. 5m 13.00 2,364.00 30, 732
m
ik 397, 877
11 |20 ) — FEHERK BIEM~BERIEER 32.00 1,748 55,936
m3
12 IRIGHE RIEA - FE MEIERT 23.00 8,919 205,137
t
13 WIHHLE REMRK BIEM~BERIEER 23.00 5,948 136, 804
t
LI 147, 200
14 0nE J|ERIVY-b 32.00 4, 600. 00 147, 200
m3
[ =5 441,030
15 FKIE 50. 00 2,085 104, 250
m3
16 BRL 90. 00 3,742 336, 780
m3
TELTT 10, 071, 070
T 10, 071, 070
yxT 574, 260
17 $iEg (1) BARUVBREM (BEITTY) 1,900. 00 225.2 427, 880
m3
18 #E&l(2) TR 650. 00 225.2 146, 380




BEANRE SH6EEEMEERERTE

£ g - KSR B H = B ® & wmE

BtT 537,970

19 &+ TR 2,300. 00 233.9 537,970
m 3

TRYEER (5 3,552, 900

20 TRVEEW LB ~BERILER 1,950. 00 1,822 3,552,900
m 3

TR EER GRAM) 1,505, 940

21 TRFEA AR E S 1,900. 00 234.5 445, 550
m 3

22 TEYEERK A RES~ I &R 1,900. 00 558. 1 1,060, 390
m 3

TrE0S 3,900, 000

23 TRy E BAERUVBREM (FEITTY) 1,950. 00 2,000 3,900, 000
m 3

HOKEEYT 1,180, 310

fIET 1,180, 310

fIET 672, 280

24 UBIEE U450 49.00 13, 720. 00 672, 280
m

BT & 312, 370

25 EmpAR RC-40 t=10cm 13.00 1,272 16, 536
m2

26 Ep 23.00 8, 288 190, 624
m2

21 a2y )— bTER 18N-8-40(BB) W/C=60%LLTF 3.00 35,070 105, 210
m 3




BEANRE SH6EEEMEERERTE

4 [} & - KT & BfI H = B {f kS B =

¥+ T 195, 660

28 BRiE 40.00 2,085 83, 400
m3

29 #BRL 30.00 3,742 112, 260
m3

BT 85, 068

FAI77ILMGHET 85, 068

HE 65, 323

30 pRfE BEIF9v43y RC-40 t=10cm FFA# 31.00 616. 1 19, 099
m2

31 FS5ALa—F PK-3(0. 8L/m2) 31.00 113.10 3, 506
m2

32 RE BAEZRETAIV(3)  t=dcm 31.00 1,378 42,718
m2

EEEES 19, 745

38 TS5ALa—+F PK-3(0. 8L/m2) 16. 00 113.10 1,809
m2

34 RE BAEZHETAIY (13)  t=3cm 16. 00 1,121 17,936
m2

THT 3,005, 569

mT 2,811, 442

T VRBRE 1,879,978

35 MHEE 1.00 926, 618. 00 926, 618
=

36 MM T U RERERE 0180 H450 96. 00 4,382 420, 672
=




BEANRE SH6EEEMEERERTE

% # 1B - okt By # B B & = H E

3 WA T URERE H=1.5m 169. 00 3,152 532, 688
m

R LR E 155, 430

38 a2y )— AT @100  L=300mm 4.00 6, 795 27,180
A

39 ERERHLEHRERE H=1.1m 9.00 14, 250. 00 128, 250
m

FAREMHE 594, 000

40 #MHE 1.00 594, 000. 00 594, 000
=

PR E 182, 034

4 EBRA RC-40 t=10cm 2.00 1,272 2,544
m2

42 Bp 6.00 8,288 49,728
m2

13 EEa Uy — RTR 18N-8-40(BB)  W/C=60%LATF 0. 60 35,070 21,042
m3

44 PR H=1.5m W=3. Om 3.00 36, 240 108, 720
=

BET 162, 907

BET 162, 907

45 BE (B)&RE 180,205 x 250 x 600 13.00 7,123 92, 599
m

46 HEER IOV NRE 120 x 120 x 600 14.00 5,022 70, 308
m

FE£+T 31,220

FE£+T 31,220




BERNRE AH6EERREEERMER TS
£ b R - ARSTiE Bify H 2 B @ £ =
47 RiE 6.00 2,085 12,510
m3
48 HBRL 5.00 3,742 18,710
m3
[ER4PTBRI/EZE Y — K] 27,855, 272
BEMBEL 6,973, 735
SERELT 3,963, 652
FAI7IL NEEMRYIMT 46, 552
49 7R 7 7 )L SRR YT t=15cmA 68. 00 684.6 46, 552
m
FAI7IL NHERBET 2,577,520
50 7R 7 7L EHE R t=15cmEL T 4, 400. 00 585.8 2,577,520
m2
TR I 7L FEGEK 460, 680
51 7RI 7L FakiElk HEIER~BERIEHES 220. 00 2,094 460, 680
m3
FRAI7IL LRSS 878, 900
52 PRI 7IL FBROHE 517.00 1, 700. 00 878, 900
t
EEYRIELT 3,010, 083
EEYRIELT 2,368, 211
53 EEMEY ChLEBE |-} 13.00 10, 900. 00 141,700
m3
54 MERE H=2.0m W=6.0m 1.00 197, 500. 00 197, 500
k-4




BERRE

THcFEERZERAMERTE

£ 5 B - BKTE Bify 2 B ® & wmE

55 {REALVEE H=3. Om (RI &R+t & ) 480. 00 3,232.00 1,551, 360
m

56 /NEEE H=3. Om 3.00 7,289.00 21, 867
=

57 XS54 K5 —rEIE() H=3.2m W=6.2m 1.00 130, 800. 00 130, 800
=

58 XS54 K4 — FEIE(2) H=3.2m W=6.5m 1.00 130, 800. 00 130, 800
=

59 XS54 K7 — FEIE®) H=3.2m W=10.1m 1.00 157, 000. 00 157,000
=

60 AHHEE H=1. 5m 14.00 2, 656.00 37,184
m

B 578,125

61 |EHO Y ) — FER L& ~BERIEES 13.00 1,748 22,724
m3

62 HIHF 4RI - FrE (1) (R9797°) HEIER 37.00 8,919 330, 003
t

63 JimF A HEH (1) R9797°) HBIB~BERILER 37.00 5. 948 220,076
t

64 IHIHF A BT - FrE (2) (K#) MEI&ER 0.30 8,919 2,675
t

65 IHIGHERER (2) (K#) MBIEM~BERILER 0.30 8,826 2,647
t

LI 63, 747

66 W& (1) J|ERIVY-H 13.00 4, 600. 00 59, 800
m3

67 W% (2) R (A K) 0.30 13,157.00 3,947
t

TELT 17,227,787

T 17,227,787




BEANRE SH6EEEMEERERTE

£ b R - BRTE Bify H 2 B * 8§ =

g+T 743,160

68 {EH! BARUBREM (BEITIVNIY) 3, 300. 00 225.2 743, 160
m3

BEtT 818, 650

69 B+ TR 3, 500. 00 233.9 818, 650
m3

THEERR (5 5, 205, 360

70 RSB HEIER~BERILES 3, 280. 00 1,587 5,205, 360
m3

TREERR GRAM) 3,900, 617

1 T EbiEA AR E 5 3,900. 00 234.5 914, 550
m3

12 TREER AR E S~ TE T &ERT 3,910.00 763.7 2,986, 067
m3

THERS 6, 560, 000

13 tHuNE BAERUBRES EEIT9) 3, 280. 00 2.000 6, 560, 000
m3

SHET 304, 487

TFRAI7ILNGHET 304, 487

TRI7IL % 304, 487

14 TERE BHEH9945y RC-40 t=15cm FEA# 125.00 254.8 31, 850
m2

75 EERE BHEAERAZERA t=10cm 125. 00 538 67, 250
m2

16 754 La—+ PK-3 (0. 8L/m2) 125.00 113.10 14,137
m2




BERRE

THcFEERZERAMERTE

£ b R - BRTE Bify H 2 B E i

17 RE BAEZHETAY (13)  t=5cm 125. 00 1,530 191, 250

m2
THT 1,571,737
mT 1,571,737
TV RKRE 1,571,737
18 72z RKRE H=2. Om (Bf 1) 12.00 46, 810. 00 561, 720

m
19 SHE D T U RMEE 1.00 578, 401. 00 578, 401

=
80 M D T U REMBRE 0300 H500 32.00 7. 381 236, 192

=
81 SR D TV RERE H=1. 5m 62.00 3,152 195, 424

m
fkith T 1,777,526
fkith T 1,777,526
WEET 1,777,526
82 @ F Wt 11, 020. 00 161. 30 1,777,526

m2
[GE XS Bt v — K] 12, 303, 058
BEMHET 6, 585, 008
SEIRZELT 6, 585, 008
FTRI7IL FEBEREBET 4,887,786
83 7RI 7L MEhEERRBERE (1) t=15cmLLF 1, 390. 00 585.8 814, 262

m2




BERRE

THcFEERZERAMERTE

£ 5 B - BKTE B H = i ® & wmE

84 7R T 7L FEREERRBERE (2) t=15cmLLF 4,340.00 938.6 4,073, 524
m2

T AT 7 IV FEEM 782, 622

86 7RI 7L hEkiEHk (1) L& ~BERILES 56. 00 2,404 134, 624
m3

86 7R T 7L hEkEHE (2) T &7~ EERPTBREEY-F (REBEE) 173.00 1,723 298,079
m3

87 7RI 7L hakFEA E S #RPTBEEE Y- 170. 00 279.5 47,515
m3

88 7R T 7L hEkiEH (3) EFS#RPTBE{E Y- ~BEERILIES 173.00 1,748 302, 404
m3

TR I 7IL LAy 914, 600

89 7RI 7 b NE 538. 00 1, 700. 00 914, 600

t

ETHELTT 3,893, 274

T 3,893, 274

LT 161, 775

90 #E#EI (1) B (BEITYNTY) 140. 00 225.2 31,528
m3

91 #EHI(2) B (BEITVNTY) 430. 00 302.9 130, 247
m3

BtT 275, 387

92 B&+ (1) TR 190. 00 233.9 44, 441
m3

93 B& 1 (2) bk ) 610. 00 378.6 230, 946
m3

TRYEER (5 1,407, 621

10




HERNRE SH6EEEREEAMERTE
£ [ B - Bk Bify £ i & E i

94 +HEYEEHR (1) EI&Ef~BERILES 130. 00 1,822 236, 860
m3

95 TRMEENR (2 1 T E#FT~ E R RPTBREEY-M (RES) 430. 00 901.2 387,516
m3

96 LT HbiEA E S HRPTBREE - 430. 00 234.5 100, 835
m3

97 TRYEERK () ERRPTBREIFEY-I ~BERLER 430. 00 1,587 682, 410
m3

TREERE GRAM) 908, 491

98 L HEIA (1) AR &5 220.00 234.5 51, 590
m3

99 +RMEEEHRR (1) AR E 5~ e T &R 220. 00 558. 1 122,782
m3

100 RMFEIA (2) AR &5 670.00 317.4 212, 658
m3

101 LRYEEHK (2) AR E 5~ i T &R 670. 00 778.3 521, 461
m3

TEHLS 1, 140, 000

102 +R0H & B (BEITYNTY) 570. 00 2,000 1, 140, 000
m3

HET 155, 897

FAI77ILMGHET 155, 897

FTRAI7IL MEEE 155, 897

103 TREKRE BEIF9v43y RC-40 t=10cm FFA# 64. 00 254. 8 16, 307
m2

104 L/Zpgis BERMERZERAE t=10cm 64. 00 538 34, 432
m2

106 754 La—+ PK-3 (0. 8L/m2) 64. 00 113.10 7,238
m2

11




BEANRE SH6EEEMEERERTE

£ g - KSR B % = B & &8 wmE

106 &[E BAEZRETAIV(13)  t=bcm 64.00 1,530 97,920

m2
fxih T 1,008, 879
fxih T 1,008, 879
MEET 1,008, 879
107 F&Fmedt (1) 1,390. 00 161.30 224,207

m2
108 f&F At (2) 4,340. 00 180. 80 784, 672

m2
RE&T 660, 000
REEET 660, 000
RBFEERS 660, 000
109 RREE RBFEE(HEESD 30.00 22, 000. 00 660, 000

AH
[EE RS Al — K] 1,419, 283
BEYHET 1,419, 283
BEMERZELT 1,419, 283
BEYRELT 873, 585
110 %7 = VA& 135.00 6,471.00 873, 585

m
OB M 542,098
111 BRIZFAERFEA - FrEn (1) (R9797°) HEI&ER 36.00 8,919 321,084

t

12




BERNRE AH6EERREEERMER TS
£ b R - BRTE B 2 i %8 =

112 JWIHFEAE RIERR (1) A9797°) HBIBm~BERILER 36.00 5. 948 214,128

t
113 JMIGFE FIEA - FE(2) (BHEY-V) HEIERR 0. 60 8,919 5, 351

t
114 J|IGFHE T8 (2) FHEY-V) HEIBR~BERIEESR 0.60 2,559 1,535

t
RS 3, 600
15 BE>— AN & BISAFvY 0. 60 6, 000. 00 3, 600

t
[FEfIEAZE ) 645, 999
BEYHET 217,949
HERELT 217,949
FAI7IL NHERBET 143, 521
116 7R 77 )L MG RRFERE t=15cmEL T 245.00 585. 8 143, 521

m2
TR 7L FRGEK 25,128
17 7RI 7L b8 HEIER~BERILES 12.00 2,094 25,128
m3

T AT 7IL LRSS 49, 300
18 FRI7IL hinE 29. 00 1, 700. 00 49, 300

t
EELTT 387,725
T 387,725
g+T 15, 764

13




BEANRE SH6EEEMEERERTE

£ g - KSR B % = B & &8 wmE
119 EAI BRAEM (BEITIAIY) 70. 00 225.2 15, 764
m 3
BtT 21, 051
120 2%+ bk ) 90. 00 233.9 21, 051
m 3
TREER (L5) 111,090
121 L REElk LB ~BERILER 70. 00 1,587 111,090
m 3
TRbEER GRAM) 99, 820
122 1A AR E S 100. 00 234.5 23, 450
m 3
123 T RYEElR AR &5~ e T &R 100. 00 763.7 76, 370
m 3
TRELS 140, 000
124 0N E BREEM (BEITIVNIY) 70. 00 2,000 140, 000
m 3
fxih T 40, 325
fxih T 40, 325
EET 40, 325
125 FEFmeft 250. 00 161. 30 40, 325
m2
[RFLTMRE 5] 111, 830, 160
ETHELIT 111, 082, 500
T 111, 082, 500

14




BERRE

THcFEERZERAMERTE

4 b R - BRTE Bify #H = il E =
TRER L 19, 515, 000
126 LEbER LN 15, 000. 00 1,301 19, 515, 000
m3
THEERR 47,226, 000
127 £#iE2A MEIERT 12, 000. 00 234.5 2,814,000
m3
128 LREElk HEIBERm~BEERILES 12, 000. 00 3,701 44,412,000
m3
OB M 11,941,500
129 ex/fEA MEIERT 3, 000. 00 279.5 838, 500
m3
130 SR EHK IR ~BEERILER 3, 000. 00 3,701 11, 103, 000
m3
noeg 32, 400, 000
131 unE 12, 000. 00 2,160 25, 920, 000
m3
132 SsRUN & 3,000. 00 2,160 6, 480, 000
m3
RE&ET 741, 660
RBEET 741, 660
RBFEERS 741, 660
133 BRZER RBFEE(HEESD 51.00 14, 660. 00 747, 660
AH
[A6, AT PR E Z15] 84,957, 200
THELT 84,444,100

15




BEANRE SH6EEEMEERERTE

£ g - KSR B H = B & &8 wmE
T 84,444,100
TRMERLY 22,117,000
134 LEERLY 17, 000. 00 1,301 22,117,000
m 3
TREER 26, 761, 400
135 L RbFEIA IR 6, 800. 00 234.5 1,594, 600
m 3
136 LRYEEHRK LB ~BERILER 6, 800. 00 3,701 25, 166, 800
m 3
OB M 13, 533, 700
137 EERTERA &R 3,400. 00 279.5 950, 300
m 3
138 ELAEH LB ~BERILER 3,400. 00 3,701 12, 583, 400
m 3
noeg 22,032, 000
139 R nE 6, 800. 00 2,160 14, 688, 000
m 3
140 SsRUN & 3,400. 00 2,160 7,344,000
m 3
RE&ET 513, 100
REEEL 513, 100
RBFEERS 513, 100
141 RRES RBFEEHEES 35.00 14, 660. 00 513,100
AH
HEREE FEL) 875, 653

16




BEANRE SH6EEEMEERERTE

£ {71 R - KR By % = B O\ ® # S

HiB R R 875, 653
HBIREE 875, 653
ERE 104, 753
RIKRE 76,673
142 R B=E t=10cm 13.00 3,051.00 39, 663

m3
143 F L&k BIEM~BERIEER 10. 00 3,701 37,010

m3
nore 28, 080
144 REMHE 13.00 2,160 28,080

m3
e E 770, 900
RERAE 770, 900
145 RAAERBA (RN E) 1000Wx 6%] 2t 1.00 659, 200. 00 659, 200

=
146 RAAERBA (3R Li%) 400W x 24T 1.00 111, 700. 00 111, 700

=

17




ISR THcFEERZERAMERTE

% g - AKTiE Bifr B 2 B i & #B w E
EEIEH 261, 181, 042
FiEIEE 17,447,093 + 70, 411, 262 87,858, 355
HBEREE GD 875,653 + 15,440,137 + 1,131,303 17, 447,003
HBERHE (BLE) 875, 653
HBERER (F) 198,970,848 x 7.76% ((5.79% x 1.3) x 1.03) 15, 440, 137
BSRENER 191,746,395 x 0.59% 1,131,303
RnEER 216,983,861 x 32.45% ((26.00% x 1.2) x 1.04) 70, 411, 262
TR 261,181,042 + 87,858, 355 349, 039, 397
—REEEZ 287,395,123 x 14.81% (14.81% x 1.00) — 4,254 42,558, 963
RFIIRELE 287,395,123 x 0.04% 114,958
2o59F 2,873,318
T &l 349,039,397 + 42, 558,963 + 114 958 — 2,873,318 388, 840, 000
HBETEALE 388,840,000 x 10.00% 38, 884, 000
HAISE 388,840,000 + 38,884, 000 427,724, 000




BfR-BEI/ \vr—>

SHeEEEETEERAMERTE

&5 1
B TRI7IL NEERRYIET  t=15cmA T Tm%y
£ 7 R - BIRTE B #H = B i € # s &
7 AT 7 )L FEEEERR U t=15cmLLF
m 1.000 684. 6 684. 6
= it YEZHESN - 1.00m 684. 6 684. 6
FIEERESMEIE AL
FHE—RBMWIE - 2L BERROHIRIC K BHHIE - H L
&5 :2
B TR I 7L FEEEMRER  t=15emA T Tm24Y
£ 7 R - BIRTiE B #H = B i € # s &
7 AT 7 Il R R t=15cmLLF
m2 1.000 585. 8 585. 8
= it 1E%HEH : 1.00m 2 585.8 585.8
TIEERESMEIE AL
FHE—RBMIE - 2L BRI ROHIRIC K AHHIE - T L
%5 :3
B TR 7L MEGER ISR ~BERICESR Tm3%HY
£ 7 R - BIRTiE B #H = B i € # s &
7RI 7 I FEER EILER~BERILER
m3 1.000 2,094 2,094
= it EZ%8EH : 1.00m 3 2,094 2,094
TIEERESMEIE AL
FHE—RBMWIE - 2L B ROHIRIC K BHHIE - H L
E2=
B TRI7IL LD E 100t &Y
£ 7 R - BIRTiE B #H = B i € # s &
noeE FAI7IL L&
t 100. 000 1, 700. 00 170, 000
= it 1EZ%HEH - 100.00 t 1, 700. 00 170, 000

FHRENMEE L
FH—REMEE L

FrfRHIRIC &K HHHIE - &L




BfR-BEI/ \vr—>

SHeEEEETEERAMERTE

EH5:5
&R BEMEY CHOLEBE EH1))-H Tm3%Y
& g K - BAIKTE B = B ff £ # % &
EHEEY B HBHEL #HE 8K
m3 1.000 10, 898. 00 10, 898
HEE (F50)
= 1.000 10, 898. 00 2
& it 1E%HEH : 1.00m 3 10, 900. 00 10, 900
FEEESAHE S L
FHE—IEWE: GL BERIRIFIRIC K BHHIE - L
ES5:6
4 g K - BAIKTE B = B ff £ # % &
T AR—gtHEER
A 1.300 30, 160. 00 39, 208
HHIEEER
A 1.300 26, 620. 00 34, 606
LEEEER
A 2. 600 22,780.00 59, 228
SI7TL—2L—VER CGhEfRiE S T8 (B AR X RE) (F1xE
#{E) 25t/ =] 1.000 55, 100. 00 55,100
HHEE (E+FEDLHD) 2N %
% 5. 000 188, 142.00 9, 358
& it EZBER - 1. 00& 197, 500. 00 197, 500

FHEERSMEE T L
FHE—IEMIE : TL

FrfRHIRIC &K HHHIE - &L




BfR-BEI/ \vr—>

SHeEEEETEERAMERTE

&5 .17
£ 7 R - KT B B = B Of € # s &
TAR—ARtHEEE
A 1.300 30, 160. 00 39, 208
(e S
A 1. 300 26, 620. 00 34, 606
LTEEXE
A 2.600 22,780. 00 59, 228
ST7TL—29L—2EH CHEMBES J8) A RER) (BIRE
#(E) 25t/ B 1.000 55, 100. 00 55,100
EME(EL+FEDLD) 2D %
% 5. 000 188, 142.00 9, 358
= it 1E%HEN - 1. 00E 197, 500. 00 197, 500
FISEFESMEE T L
FIE—IEMHIE - T L BERAIFIFSIC L BHHIE - AL
%5 :8
& REVEE  H=3. m(BIEMET) 10m=% Y
£ 7 R - KT B B = B Of € # s &
TAR—ARtHEEE
A 0. 204 30, 160. 00 6, 152
LEEXE
A 1.020 22,780. 00 23,235
EME (E+FELHH)
% 10. 000 29, 387. 00 2,933
= it 1YEZHES : 10.00m 3,232.00 32,320
TSRS EE T L
FIHE—IEMHIE - T L BERAIFIFSIC L BHHIE - AL
59
AF : BRERFIEMEE  H=1. 1m 100mz% Y
£ 7 R - KT B B = B Of € # s &
TEER - BT LEMEET T hiEAR E—Lz - SR
m 100. 000 1,081.00 108, 100
HHE (F50)
= 1.000 108, 100. 00 0
= it 1EZ%HEH : 100.00m 1,081.00 108, 100

FHRENMEE L
FH—REMEE L

FrfRHIRIC &K HHHIE - &L




BfR-BEI/ \vr—>

SHeEEEETEERAMERTE

H5:10
A% 7z R#EE H=1.5m 100mz Y (100m)
2 Lo R - KT By B = B ff | # B &
TAR—ARtHEEE
A 0.775 30, 160. 00 23,374
LREEXER
A 9.150 22,780.00 208, 437
HHE(E+FEH0) FHEEDY%
% 2.000 231,811.00 4,589
& it 1EZ%HEH : 100.00m 2,364.00 236, 400
FISEFESMEE T L
FHE—RBMAE : L BERAIFIFSIC K BHHIE - AL
&H5: 11
2 BHIVY ) — FER EISM~BERILER Tm3%HY
2 Lo R - KT By B = B ff o # B &
|HO2Y ) — FROER EILER~BERILER
m3 1.000 1,748 1,748
& it 1E%HEH : 1.00m 3 1,748 1,748
FISEFRESMEE T L
FHE—BME : L BERAIFIFSIC L BHHIE - AL
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